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Your Answers: 

 

1.  __________________ 

 

 

2.  __________________ 

 

 

3.  __________________ 

 

 

4.  __________________ 

 

 
 

5.  __________________ 

 

 
 

6.  __________________ 

 

 
 

7.  __________________ 

 

 

8.  __________________ 

 

 
 

9.  __________________ 

 

 
 

10.  _________________ 

 

 

 

 

 

 

 

Think you’ve got this?  Score yourself by comparing your answers with the correct answers! 
 

Quick Check on Integer Basics 
 

1.  Which of the following numbers are integers?  -1, -  

 1 

4
,  

 1 

3
,  

 8 

5
, 6 

 1 

2
, - 6 

 1 

2
, 10, 127 

 
 

2.  Which numbers are not integers?  -100, -7, -2.25, 0, 0.3̅, √5, , 2024 

 
 

3.  Which numbers do not represent integer values?  
 5 

10
 , 

 10 

5
 , -√9, √-9, √10, √81, 5%, 100% 

 
 

4.  What is the additive inverse of 6?   

 

 

5.  Which letter corresponds to the placement of -2 on the number line below? 

 

 

 

 

6.  Which letter(s) represent points on the number line that are 3 units from zero? 

  

 

 
 

 

7.  What is the absolute value of -10?     

 
 

 

8.  What is  10  ? 

 

 

9.  Which number is the largest?    -892, -893, -894 

 
 

10.  Which number is the smallest integer?  - 
 99 

100
 , -5, -11.8, 

 1 

1001
, 0.0001, -0.0001, -1, 0 

 


